SRS 1 0H 1 HEBE (o Ad : HAAN+HSEAN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2, 499 11 2,815 14 2, 854 10 5, 669 24
JHPTET—TH 1,041 8 941 5 844 1 1, 785 6
JHFHT — T H 600 1 564 0 570 -3 1,134 -3
JHIPTHT =T H 665 4 718 4 671 3 1, 389 7
JHPTETIU T H 495 1 509 0 536 0 1,045 0
PRI T H 335 1 361 3 333 -1 694 2
JHPTHT 7S T H 297 0 364 1 387 ) 751 -1
oY 206 0 197 0 213 ) 410 )

=8 378 -2 445 -1 461 —4 906 -5

T H 1,953 7 2,021 6 2,071 ) 4, 092 4
SEins 345 -5 335 -6 340 0 675 -6

R H 934 4 993 5 975 3 1, 968 8
HHT— T B 284 3 356 2 397 3 753 5
T T H 353 0 439 1 446 1 885 2
HHT =T H 501 -2 682 -2 649 0 1,331 -2
FHTIU T H 298 2 401 -2 392 0 793 9
T H 232 -3 256 -3 250 -3 506 -6

W] = 306 0 364 1 342 0 706 1

— VK 436 -2 449 -1 455 -1 904 )

— YV KHT—TH 0 0 0 0 0 0 0 0
VAR TH 32 1 44 0 43 1 87 1
L 112 0 130 0 120 0 250 0

— Y ARHH 5 0 5 0 5 0 10 0
KH» B 692 0 869 0 874 1 1,743 1
k4> 4, 579 7 4, 897 5 5, 085 -3 9, 982 2

IS 4,822 6 4,606 1 4,677 -18 9, 283 -17
W 1, 407 -5 1,502 -1 1, 558 1 3, 060 0
=+ 6 0 10 0 7 0 17 0
ErLR—TH 930 -10 797 -10 961 —/ 1,758 -14
E+tH_TH 1, 150 -2 1,113 -1 1,185 1 2, 298 0
E5+HR=TH 868 -2 794 0 860 -3 1, 654 -3
LRI T H 730 0 720 2 730 0 1, 450 2
E5+RAETH 732 -2 773 —/ 685 -1 1,458 -5
RN TH 0 0 0 0 0 0 0 0
8 1, 990 -3 1,975 -1 1, 858 -5 3, 833 -6

s E—T1 H 309 4 307 2 313 5 620 7
o BE—TH 245 2 257 3 249 1 506 4
Wy =TH 434 -1 437 2 453 0 890 2
o DU B 765 -9 712 -4 815 -2 1,527 -6
o T H 459 0 492 -2 517 -6 1,009 -8
I —T1H 257 0 301 0 334 0 635 0
FElT T H 585 -1 579 -2 647 1 1,226 -1
T =T H 187 0 184 0 230 0 414 0
s 33, 454 13 34, 714 17 35, 392 -28 70, 106 -11




